
https://www.geekcert.com/ns0-504.html
2024 Latest geekcert NS0-504 PDF and VCE dumps Download

 

 

 

NS0-504Q&As

NetApp Certified Implementation Engineer - SAN, Cluster-Mode

Pass NetApp NS0-504 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/ns0-504.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

NS0-504 VCE Dumps | NS0-504 Practice Test | NS0-504 Exam Questions                                1 / 3

https://www.geekcert.com/ns0-504.html
https://www.geekcert.com/ns0-504.html
https://www.geekcert.com/ns0-504.html


https://www.geekcert.com/ns0-504.html
2024 Latest geekcert NS0-504 PDF and VCE dumps Download

QUESTION 1

The storage administrator wants to ensure resilient non-interruptive access to a LUN in a cluster even if the volume
containing the LUN is moved to any node within the cluster. What is the minimum recommended method to accomplish
this requirement? 

A. Create a single fabric design with a single LIF on each node. 

B. Create a single fabric design with two LIFs on each node. 

C. Create a dual fabric design with a single LIF to one of the fabrics on each node. 

D. Create a dual fabric design with a single LIF to each of the fabrics on each node. 

Correct Answer: A 

 

QUESTION 2

Which four FC fabric topologies does NetApp support? (Choose four.) 

A. four FC switches with multiple Inter-Switch Links (ISLs) between each pair of switches 

B. ten FC switches per fabric, daisy chained with a single ISL between switches 

C. four FC switches with multiple ISLs between ALL switches 

D. eight FC switches with no more than a single ISL between switches in a cascade topology 

E. dual FC switches with no ISLs 

F. a single FC switch 

G. a switched fabric that has 65537 ports 

Correct Answer: ACEF 

 

QUESTION 3

Which two statements are true in a SnapMirror LS mirror relationship? (Choose two.) 

A. Client requests to write data are allowed if the user is root. 

B. Client requests to write data are denied unless accessing the admin share. 

C. Client requests to read data are only allowed if the mirror is up-to-date. 

D. Client requests to read data are redirected to the LS mirror destination volumes. 

Correct Answer: BD 
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QUESTION 4

Which MetroCluster configuration procedure is recommended for re-establishing a mirrored volume that was in a level-0
resynchronization state when it failed? 

A. Determine which volumes are at the remote and disaster sites. 

B. Re-create the synchronous mirror. 

C. Rejoin the two volumes. 

D. Turn on power to the cluster node at the disaster site. 

Correct Answer: B 

 

QUESTION 5

Which topology allows for guaranteed maximum network performance for iSCSI? 

A. isolated VLAN network 

B. MetroWAN network 

C. direct connect 

D. WAN network 

Correct Answer: C 
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